
 

 


ر�
 ا���
دب ا������� ����� 
  

            
�#��1: 
  


ب *(ة )�ة ا���
ذب    -1+,: 
         -(./�
#8 7
 *(ة )�ة ا���6ب �0
 ا5رض وا�0 1�2/�:  

                                               
                                                  FT/S = FS/T =F =G��.��

�²
  

 

                                                  F=6,67.10⁻¹¹�
�,
�.��²⁴��,

.��³⁰

��,�.�����²
� 3,51.10²²� 

 
        
��F���G� :��/�   و��/�  HG+ر ا�
�I� J�K��G� ن

آ+/�N ن
��ON1 ا�2(ة وPو� Q
  : �1P ا�5�

1cm    →   2.10²²N             
  3,51.10²²N          → L      W��X HF+0 
��F��ا�� JK��=1,75cm     L=�,��.��²²

�.��²²
  

        

                                   


 ا�G7 1�2\ ا�I2^ ا���[�د G7\ ]�Z اYرض   -2F_8Z� ��ب *(ة ا�_�ة ا�
+,:  
                                            FS/C=G �� .�

�� !��²
 

                                            FS/C =6,67.10⁻¹¹�
�,

.��²⁴�"�

��,�.���� #$��.��%�²
� 0,41� 


ب *(ة ا�_�ة ا��� -+,  
F�Z[ \G7 د�]ا��� ^I2ا� \G7 ا5رض 
F_8Z�: 
                                            FT/C = G ��.�

!²�
  

                                            FT/C = 6,67.10⁻¹¹�
�,
�.��'(�"�

�#$��.��%�' � 678,23� 

 
              3-[ \G7 )]�� ^I* \G7 1�2ا� #�ab� J�F� ^I2ا� \G7 رضYا #�ab� م
Nا5رض أ �Z.  

  
 
�#��2:  

  
1-  H+�ا� \G7 -_8Zب *(ة ا�_�ة ا��
+,S  e�#ف ا��#X 
N: 


O�)�   ا5رض �Z[ \G7 H+�وزن ا�:P₀ = mg₀    أيm = /₀

0₀
  

 H+�وا� e�#ا�� 
  :���S  kآ�
 أن )
��ن ا���
ذب ا����� �0
                                      FM=G�1.2

!²1
 =G /₀

0₀

�1

!²1
 

                                F=6,67.10⁻¹¹�
����#,#.��'%


,5���$��.��%�' � 194� 

 
2-  e�#ا�� �Z[ \G7 -�
_Kج *(ة ا�
�O�[ا: 

                                                                PM � mgM 

                                                                P₀ �m g₀⇒        
01

0<
 � 

/1

/<
    ⇒    =�> 

/1

/<
 =�� 

�
$

���
 �9,8 �3,8 N.kg⁻¹ 
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�#��3:  
  

8
ت ا��/#�8  -1aا :g�g₀
!²

�!AB�²
 

 k��� Wوي وز�
+� H+] \G7 رضYا 
F_8Z� ��ذب ا����� ا�
  :�/HG أن *(ة )�ة ا���
  : �Z[ \G7 ا5رض

                                                             P₀�mg₀                    ⇒  P₀�F₀     ⇒     mg₀�G
 �.�

!²
      ⇒     g₀�G 

�

!²
             

�1� 
                                                             F₀�G

��

!²
    

 

ع Pا5ر� )O7h  : 

  
                                                             P�mg     
                                                             F�G

�.�

�!AB�²
                 ⇒ P�F           ⇒   mg�G 

�.�

�!AB�²
     ⇒  g� G

�

�!AB�²
         

(2) 
 

 

 ا�/.)��N(1)  (2)و  p�O�+�:  
                                                            GM=g₀R² 
                                                            GM=g(R+h)²               ⇒  g(R+h)² = g₀R²   ⇒   g = g₀ !²

(!AB)² 
 


ب  -2+,g  )O7h=10³ km : 
                                                          g=9,8� (#$��.��%)²

(#$��.��³A��⁶)² =7,33 N.kg⁻¹ 
 

3- 3-1  H+�ا� -G�ب آ
+,: 
 
O�)� :P₀=mg₀  أي :m = /₀

0₀=���

,5 =51kg  

  

ع  3-2Pا5ر� )O7 ب ا��زن
+,h :  

 
O�)� :P=mg  أي  :P=51�7,33=372,3N  
  

8
ت ا��/#�8  -4aاP=/₀


 ���ن   N)O7h=2R 

                                                           P=mg=mg₀. !²
(!AB)' 

  :���k ا�/.)- ا�+
h=2R  -_0و  HG/� :P₀=mg₀ أن 

                                                           P=P₀ !²
(!A�!)² =P₀ !²

(�!)² =P₀ !²

!² 

                                                           P=/₀

  

5-  
7 q�8�h  أن 
�G7 :g=0₀
� 

                                                           g = g₀ !²
(!AB)² =0₀

�   
 
                                                          ( !

!AB)² = �
�  

 
                                                           !

!AB=J�
� = �

√�  
 
                                                           R√2 = R+h 
                                                          h=R√2 – R  
                                                          h=R(√2 - 1)  
                                                          h= 6,4.10³(√2-1) =2,65.10³km 
 

 
�#��4:  
  
 :�^ ا�_
��ن -1-1 -1
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 s/0 \G7 )�ى ��
ذ�0- Ft/0 u8Z�v 
F�GOآ k8+0 م

ذب ا5[+���.  


 �_��� ا���
ذب �0��+] �A�  و�B� 

ه��G�آmA  وmB  -v

 ا��+�FG�P�d :  

 k���                             :FA/B = FB/A=G.�Q.�R
�²  

 
2-1- 
���_G�FA/B    وFB/A :  

•  Q
 .�1P ا�5�

آ+
ن  •/�N ن
��ON. 
 .و�1P ا�2(ة  •
  -v

ن ا��+
6�d  -vآ# أن ا��+v ، 

ن واذا آ
ن ا��+�
ن آ#و���Z_Oا� 
�0
 ا��+�� J�P�d 

 
�0
 N#آyي ا��#�� J�P�.  
  


�- �Z[ \G7 اYرض  -1-2 -2_K�8# *(ة ا�/�: 
 W�G�آ H+] 
  : ���Z[ \G7 )] اYرض واYرض  m*(ة )�ة ا���
ذب �0

                                                       F=G.�.��
!�'

  

 :�/�8# وزن ا��+�Z[ \G7 H اYرض 
                                                       P₀=mg₀ 

                        
�0
 أن *(ة ا�_���F  وP₀  k��� ن

و��+�N:  
                                                              F=P₀ 
                                                                  mg₀=G.�� .�

!�'
  

 
                                                                 g₀=G��

!�'
       (1) 

 

ع  -2-2      Pا5ر� )O7 -�
_K�8# *(ة ا�/�h :  

                                                                 F=G �� .�
(!�AB)²               ⇒  mg=G �� .�

(!�AB)²       ⇒     g=G. ��
(!�AB)'      (2) 

                                                                 P=mg 

 ا�/.)-       N 
O�)�(1) GS =g₀.T��  :���G7 J\    (2)�/�ض �v ا�/.)-   

                                                                                                                                                            

                                                           g =g₀. !�'
(!�'AB)² 

 

ع  - 2- 3    Pا5ر� )O7 H+�وزن ا�h=6400km :  

�z,.� :T أن       = U    أن HG/و� :P=mg   

                                                          P=mg=g₀. !�'
(!�'AB)² . V = V=₀. !�'

(!�'AB)²   
 
                                                             P=P₀. !�'

W!�'ABX'= P₀. !�'
W!�'A!�'X'=P₀. !�'

$!�'
=/<

$ =5��
$ = 200� 

 

 ���ن *( -3N)O7 ة ا�_�ةFL/S وي ا�_�ة
+� �7
OZ{5ا�_�# ا \G7 #�_ا� 
F_8Z� ��ا�    FS/T   ��ا�


نv #�_ا� \G7 ا5رض 
F_8Z� 

 �PN JZ8/�ل اY|#ى  �FON Jن آ
 .ا�_��
ن ���از�

                                         

                         
                                   

�0
 N#آyي اYرض وا�_�#                        -v
 dا��+

�7  ه�                       OZ{5رض وا�_�#اYا yآ#N 
�0 -v
 d-dL: ا��+
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                       �7
OZ{5ا�_�# وا�_�# ا yآ#N 
�0 -G{
Pا� -v
    dL: ا��+
                       �7
OZ{5ا5رض وا�_�# ا 
 :    *(ة )�ة ا���
ذب �0

                                                                                              FT/S = G. �� .�
(� �\)²          


�7  *(ة )�ة ا���
ذب �0
 ا�_�#                              OZ{5وا�_�# ا:  
                                                                                FL/S = G�\.�

�²\  

آ+
ن                       /�N 
���ONو Q

 �1P ا�2(ة �1P ا�5����_G�:  

                                                                                               FT/S =FL/S 
 
                                                                                              G. �� .�

(� �\)²  = G�\ .�
�²\     

   
                                                                                                ��

(� �\)² = �\
�\'

 

 
                                                                                                 5��\

(� �\)² = �\
�\'

 

 

                                                                                                 
²
(� �\)² = �

�\'
 

 
                                                                                              J( 


� �\)²    = J �
�\'

 
                                                                                                


� �\  = �
�\  

                                                                                                9dL = d- dL 
                                                                                                                                                 9dL – dL =d 
                                                                                                 8dL  = d 
                                                                                                 d L = �5 = �5.��⁴

5  = 4,75.10⁴ km 

 
                     
�#��5:  

  
1-  H+�ا� \G7 kا���آ 
F_8Z� ��دب ا����� ا�
 :�/�8# *(ة ا���

                                                                                          F=G
�.�

!²
 

 
2-   H+��8# *(ة وزن ا�/�: 

                                                                                            P₀=mg₀ 
 

3-  kا���آ �Z[ \G7 -�
_Kج �/�8# *(ة ا�
�O�[ا: 
 
O�)�P₀=F         أي        :  

                                                                                            mg₀ =G
�.�

!²
 

 
                                                                                             g₀ = G

�

!'         

 
4-  -�
_Kب *(ة ا�
+,: 

 :�Z[ \G7 اYرض   - أ

               =��=G. 
��

!�
'  =  6,67.10⁻¹¹�

#.��²⁴

�#$��.��%�²
=9,77N.kg⁻¹ 

 :�Z[ \G7 ا��2�#ي   - ب

               =�] = G. 
�^

!^
'    = 6,67.10⁻¹¹�

�,
.��²⁷

�",��.��`�²
=24,79N.kg⁻¹ 

 

5-  -8+Oا� k+�� ، ا��2�#ي �Z[ \G7 Wرض �0ز�Yا �Z[ \G7 H+�ر�- وزن ا�
_��
/<^

/<�
   ~N : 

                            P0J=mg0J 

                             P0T = mg0T     ⇒       
/<^

/<�
 = 

0<^

0<�
 = 

�$,"



,""
 =2,54 


 و��� وز��Z[ \G7 W ا5رض ��#N ق�P� ا��2�#ي �Z[ \G7 H+�وزن ا�.  
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�#��6: 

  

ع  -1Pا5ر� )O7 H+��8# وزن ا�/�h : 

  HG/�  :P�mg ~N أن 
 m =70kg   H+�ا� -G�آ. 
  

ع  gو Pا5ر� )O7 -�
_Kة ا�)*h  ه� 
   g = g₀- 3,08.10⁻⁶h  q�,h=10.10³m:  و �/�8#ه
  
 P=m(g₀-3,08.10⁻⁶h)   ع.ت     :P=70X(9,81- 3,08.10⁻⁶X10.10³) = 684,5N              
  


ب  -2+,h   ل -_vا���اg=9,66N.kg⁻¹ 
   k+, :g=g₀-3,08.10⁻⁶h ا�/.)- 

              3,08.10⁻⁶h =g₀ - g 
          

                           h = 0< 0
�,�5.��de 

 h = 
,5� 
,##
�,�5.��⁻⁶

 =48701m =48,7km 

 
                       
�#��7: 

  
1- 1-1- -�
_K�8# *(ة ا�/�g : 

                                                 

                                    g = g₀. !\
'

(!\AB\
 

  

ع -1-2Pج )��- ا5ر�
�O�[ا  hL : 
  

 
O�)�  :0
0<

 =0,25=�
$

  g₀=4g:   أي   

      

                                 g₀. !\
'

(!\AB\)²
 g₀ = 4 

  

                                     . !\
'

(!\AB\)²
 4 1=  

  
                                   (RL+hL)² = 4.Tf

� 
  

                         = g4Tf
�  g(RL + hL)²       

                                            
                                               RL + hL =2RL      

 
                    h L =2RL – RL=RL=1738km   

  
1-3- H+�ا� \G7 #�_ف ا�#X 
N -_8Zب *(ة ا�_�ة ا��
+, (C ) .  

                                                                        F=G �\.�
(!\AB\)²

=G �\�
(�!\)²

  

                                                      F=6,67.10⁻¹¹� ",�.��''�#��
(���"�5.��%)' = 242�       

 
2- 2-1-  
�0 -Z[��ا�� -v
�0
 N#آyي اYرض وا�_�# �/�8# ا��+: 


 ا�_�# G7\ ا��+H  ا���F L/C     �/�8# *(ة ا�_�ةF_8Z�(C)          :FL/C = G.�.�\

�\
'    

    q�,dL  H+�ا�_�# وا� yآ#N 
�0 -v
  dL = RL + h’L: أي  Cا��+


 اYرض G7\ ا��+�FT/C   H/�8# *(ة ا�_�ة F_8Z� ��ا�C        :FT/C = G . �.��

(� �\)²
    

    q�,d-dL   H+�ا5رض وا� yآ#N 
�0 -v
  . Cا��+
   d  #�_رض وا�Yي اyآ#N 
�0 -v
  .ا��+


 �1P ا�2(ة ���_G� :FT/C = FL/C  
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                                                                         G . �.��

(� �\)² = G.�.�\
�\'

 

                                                                          ��
(� �\)² = �\

�\'
 

                                                                             ��
�\ = (� �\

�\ )² 

                                                                                � �\
�\  =J��

�\ 

                                                                               d-dL =dL.J��
�\  

                                                                               d = dL + dL J��
�\  

                                                                                                                       d = dL(1+J��
�\  ) 

 :                          ���dL = RL + h’L   \G7 J:    0�/�8#ه
  �dL/�ض                             

                                                                               d = (RL+h’L)(1+ J��
�\ )        


ب - 2-2                          +,d   :                                                           

                                                d = (1738+36415)X(J #.��²⁴
",�.��²²

 +1) 

                                                 d =38,4.10⁴km 
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